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Q. No: 1 Solve the following and estimate the sum to nearest hundred. (8 m)
(a) 865559 +953013

Estimated Sum ---------

Estimated product ----------

Q. No: 2 Find the difference between the given humbers and estimate the difference to the
nearest thousand. (8 m)

(a) 55896 — 32641
Estimated difference -----------
(b) 78854 — 54512
Estimated difference ------------
Q. No: 3 Fill in the blanks : (4 m)
(@) ------ zeros are there in one lakh.
(b) ------ lakh =1 hundred thousand.
(c) Half of two lakh = ------- lakh.

(d) 100 lakh = --------- crore.



